[image: ][image: ]
image2.jpg
MATH 244
QUIZ

Student Name: P‘c&C&\ KMJ@J AW\S}‘{O‘}) Stud|

Questfon 1 (1 poing cach) Answer by true or false: oo Y\ o ‘K
& ik Ve e
i If Ax = b has a unique solution then A is non Vo 1 bo
2. Any singular matrix can be written as a product of €l 3 atrices. ( on = A /;(
. CEUS
3, t A is row equivalent to I, then A is nonsingular. et
4 f B) and Fs are clementary n x n matrices, then By + E» is elementary.
o L
5 If AB = A then B=I. @ } WO
6. If A and B are nonsingular matrices th is also nonsingular. \Ths Lo
Question 2 (2 points each ) Circle the most correct answer:
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1. Let A= | -1 1 0 |.If we w: o find the LU factorization of A, then L = © Z o
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